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The objective of the marking scheme is to make evaluation as objective as possible.
The answers given in the marking scheme are not final. This is suggestive and
symbolic. If the candidate answer different then given answer but it is correct and
appropriate, marks should be awarded to student.
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Correct, righteous, meaningful and accurate answers should be given due
weightage.
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Full marks should be given to the candidate for writing the correct answer as
expected.
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Do not encourage the candidate by giving more marks in case of spelling mistakes
and digression.
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Multiple-choice questions — If the candidate has made two attempts and one of
them is correct and one is wrong, then marks will be awarded considering the
correct attempt as the right answer, and if no answer has been struck off or both
Even if the answers have been crossed out, marks should be awarded keeping in
view the correct answer.
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All the Chief-Examiners/Sub-Examiners are instructed that while evaluating the
answer sheets, if the answer is found completely wrong, then the wrong answer
should be marked (x) and given '0' marks.
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In short answer type questions in which two points are asked, if the examinee has
written both the points correctly, or has written five points out of which any two
are correct, even then marks should be given considering two correct and

appropriate answers as correct.
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The answer to the question paper distributed part-wise and number-wise should
also be evaluated part-wise and number-wise, full marks should be awarded for
that part for which the candidate has given the correct answer. While checking the
answers to the descriptive type questions, the examiner can mark according to his
discretion, but the candidate should be given positive marking.
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Attention should be paid to language-ability and expression-skills.
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Only general instructions/guidance is being provided to the Chief-Examiners/Sub-
Examiners to evaluate the answer sheets, if there is any error in the evaluation
instructions, the answer is not clear, from the answer given in the answer
instructions If there is a difference, the examiner, after discussing with the chief
examiner, evaluates that question according to his discretion.
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There are total 14 questions in the question paper. The question paper is divided
into total four parts.
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Section A consists of questions up to serial number 01 and 2, each questions is
carrying 1 mark and both questions are multiple choice questions.
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Section B consists of questions from serial number 3 to 8, all questions are of 2
marks each, all questions are very short answer type, answer should not exceed
the maximum limit 30 words.
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Section C includes questions from serial number 09 to 11, all questions are of 4
marks each, all questions are short answer type, answer should not exceed limit
maximum 80 words.
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Section D consists of questions from serial number 12 to 14, all questions carry 6
marks each, all questions are long answer type, answer should not exceed limit 200
words, question no. 12 is to be answered with the help of the passage.
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Who is known as the father of demography?
(a) Achille Gulliard

(b) John Grant

(c) Adam Smith

(d) George Bernard
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(b) John Grant
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By whom does the influenza pandemic spread?
(a) by fungus

(b) by virus
(c) by bacteria
(d) by all
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What is the concept of self-reflexivity?
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It develops in the interaction with others through a process that include a
person’s self efficacy, self image, self concept and self esteem
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Describe the process of assimilation?
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The process in which two individuals or groups or communities, culture,
ethics, living habits get mixed with each other.




FEHLUT T TUAHIOT T § 2 &7 A0 FaTey |

What is commaodification ? Give two examples.
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It a Occurs when things that were earlier not traded in the market now
become commaodities — soil, service, blood etc.
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What do you meant by community identity?
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community identity is based on birth or affinity and not on any acquired
ability or achievement - family, caste, kinship
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What is regionalism?
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An ideology that is associated with a particular region, which is aware of
its separate existence for some reason, tries to maintain its separate
identity.
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What do you meant by secularism?
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Equal feelings with all not given special importance to any one religion or
sect in particular.
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Briefly describe the following -
1. Savitribai Phule

2. Shree Narayana Guru

3. Invisible Hand

4. Bill of Exchange or Hundi

1+1+1+1
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Savitribai Phule — (3 January 1831 — 10 March 1897) was India's first female
teacher, social reformer and Marathi poet. Along with her husband Jyotirao
Govindrao Phule, she did remarkable work in the field of women's rights and
education. She is considered the forerunner of modern Marathi poetry. In
1852 She established a school for girls.

Shree Narayana Guru - Born in Kerala on 28 August 1885 and Died on 20
September 1928. he Opposed idol worship. he founded Advaita Ashram,
built temple at Aruvipuram on the banks of river Nayyar in Kerala, it is a
special pilgrimage.

Invisible Hand - The market economy is a long sequence of exchanges or
deals between individuals, which, due to their systematically, themselves
establish a working and stable system. This happens even when none of the
people involved in a multi-crore transaction have any intention of
establishing it, rather the person thinks of increasing his profit. While doing
this, whatever he does is automatically in the interest of the society or
everyone.

In this way, it seems that some invisible force is working here, which changes
the tendency of profit of these people to the benefit of the society. Adam
Smith calls it invisible hand.

Bill of Exchange or Hundi - A verbal or written agreement to pay a stated
sum used as part of an informal system for transferring money.
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What is social inequality? Explain any three main points of tribal struggle.
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Social inequality — Some people in the society have a lot of valuable
resources like money, property, education, health, power and some people
have very little, unequal access to social resources is social inequality.

Tribal struggle — search of employment, deforestation, acquisition of lands,
displacement of tribal’s formation of Chhattisgarh and Jharkhand states etc.

Any three points
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What is interview? Explain three merits and demerits of interview system.

1 +

1%+172

TR — Farerd fafer e 3 a1 < & stfees an BT f&fere sger #°r s

TEHRL LI HATE, FTATATT, ITL-TTA3qL Fd g

AT — ST TeATSN & AT, FATATIA, ATeF Forast, afadas aeae |

B — ARG it GFATaT, T8 o/, €, 97, 0L ST, et T qearaT |
AL A AT T

Interview — A Systematic method in which two or more people
communicate, talk, answer each other while keeping a specific objective.
Advantages — study of abstract phenomena, flexibility, more reliable,
changeable.

Disadvantages — possibility of biasness, consume more labour, money, time,
memory based and possibility of error.

Any three merits and demerits
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Question number 36 to 38 are long answer type, they should be evaluated
at the discretion of the examiner.
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To understand the dimensions and intensity of colonialism, it is necessary
to understand the structure of capitalism. Capitalism is such an economic
system in which the ownership of the means of production is in the hands of
a few special people. In this, the emphasis is on earning maximum profit.
Capitalism started in the West as a result of a complex process. This process
mainly includes exploration of the rest of the world by Europe, exploitation
of property and resources of non-European countries. development of
science and technology and transformation into industry and agriculture is
its main use. From the very beginning Capitalism is known for its dynamism,
potential for growth, expansion, innovation, better utilization of technology
and labour. Due to these qualities, capitalism ensures maximum profit.
Western colonialism has an interdependent relationship with the
development of Western capitalism. The same thing can be said in relation
to colonial India as well.

The western education system was brought to India with the aim of
creating such a class of Indians who could be helpful in maintaining the
British power. But because of this, nationalist consciousness and anti-
colonial consciousness emerged in India.

1. What is necessary to understand the dimensions and intensity of
colonialism?

What was involved in the process of rise of capitalism in Europe?
Why does capitalism ensure maximum profit?

What do you meant by colonial India?

What was the main reason for the rise of nationalism in India?

What is the purpose of bringing western education system in India?
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Understand the structure of capitalism.

Discovery of the rest of the world by Europe, exploitation of
property and resources of non-European countries, development of
science and technology and transformation into industry and
agriculture etc.

Mobility, potential for growth, expansion, innovation, better
utilization of technology and labour.

Rule of British empire on India.

Western Education System.

To created a class of Indians which can be helpful in maintaining the
British power.
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What is demography? Explain the population theory of Malthus.

Or

Make a comment -

1.
2.
3.

Life expectancy and birth rate
Fertility rate and population growth rate
Working population and dependent class

2+4

1+1
1+1
1+1
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Demography is the statistical study of human population. It can be a very
general science that can be applied to any kind of dynamic human
population, i.e. a population that changes over time and space. Involves the
study of spatial and/or temporal changes in the context of aging and
mortality.
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Malthus' Population Theory - According to Malthus, the growth of
population in any area increases according to Geometric Progression, while
means of livelihood increase according to Arithmetic Progression. According
to this, the growth of population increases at the rate of 1, 2, 3, 4, 8, 16, 32,
64, 128, 256...and the growth of livelihood increases at a rate of
1,2,3,4,5,6,7,8,9. The population will increase so much that its maintenance
will be almost impossible and starvation and malnutrition will be inevitable.
According to Malthus, the population doubles after every 25 years. The
difference between population and means of subsistence in two centuries is
256 and 9 and in three centuries it is 4096 and 13, and in two thousand
years this difference will become almost indeterminable.
SMREN
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life expectancy — an estimate of the average age a person is expected to live
Birth rate — number of live births per 1000 population in a year

Fertility rate - the number of live births per thousand women who can
produce children in the total population in a year

Population Growth Rate - Difference Between Birth and Death Rate
Working population — people in the age group of 15 to 64

Dependent class — population dependent on working population, children
and elderly
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What is Panchayati Raj? Describe the changes brought about by the 73rd
Constitutional Amendment.
Or
make a comment -
1. Van Panchayat
2. Chipko Movement
3. Participatory Democracy

2+2+2
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The Panchayati Raj system is a system of local self-government in rural India.
The way self-governance of urban areas is done through municipalities and
sub-municipalities, in the same way self-governance of rural areas is done
through Panchayati Raj Institutions. Panchayati Raj Institutions are three-

(1) Gram Panchayat at the village level

(2) Panchayat Samiti at Block (Taluka) level

(3) District Council at the district level

From the point of view of local self-governance, constitutional recognition
has been given to the constitution of Panchayats by this Amendment Act.,
Gram Sabha, three-tier system of Panchayati Raj, elections in five years,
provision of reservation, transfer of subjects, members determine the
eligibility of candidate.
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Van Panchayat - Van Panchayat is a local body that manages the legally
demarcated village forest / panchayati forest. In India, the Van Panchayat
system is established only in the state of Uttarakhand.

Chipko Movement - Chipko Movement was an environment-protection
movement. This was done by farmers in the Indian state of Uttarakhand to
protest against the felling of trees. They were opposing the deforestation by
the contractors of the State Forest Department and asserting their
traditional rights over them. This movement started in the year 1973 in
Chamoli district of the then Uttar Pradesh. Within a decade it had spread to
the entire Uttarakhand region. One of the main points of the Chipko
movement was that women participated in large numbers in it. it is headed
by sunderlal bahuguna.

Participatory democracy - Participatory democracy is the name of that
process which emphasizes full participation of people in the operation and
direction of a political system.






